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22 |74 7 a=)L 13 13
29 [1=—TUNAFL—2, 3—mhRFT Tl 0 0 1
EHHT VX NP 2R R NEOR (7
30 zuﬂe/ugwrﬁi&ﬁxloﬁ 514FTOLO K NE 32 3 1 8 44
DIREWIZIED, )
53 17’“»&‘/%‘/ 108 34 4 146
57 |=F LY Va—)LE/=F )L —F )L 4 4
64 |=h7=r Tyl 15 5 7 14 1 41
80 [F Ly 233 74 4 13 3 327
86 |71V —)L 24 24
AN A= (VA=PN [ 0 0
U7 |[5y7aty—n 9 9
139 [horANY 5 0 0 6
140 |7 x> 7 asXR) 10 10
153 |7 hF AN 160 7 2 57 226
171 [Fuvatry—n 14 14
181 [Y7up~_r P 169 343 109 621
207 |2, 6—V—F—X%V—TFN—4—JL/—)L 9 6 15
248 (AT 0 4 1 6
251 |[Zx==baFAL 234 75 5 314
252 |Z7=rTF A 16 55 18 89
256 |7 hfE 2 2
257 |THh/)—)v 0 0
275 |RT S IVERER TR T A 0 0
297 |1, 3, 5—hNAF AL~ E 14 14
300 [FrTy 0 0 3 3
346 [2— T == T=/)—)L 47 47
350 [~LARY 6 23 7 10 22 3 71
405 [1Z2F# G 3 0 3
R (AFy=FLo) =T L¥Lo—T )L (T /L%
407 |WVIEEDRFEED12D5515FTOLD K N DR 7 11 3 0 20
HEWIZIRD, )
408 [ARY (AFL=FL V) =AIFNT =)L T—F )L 4 1 5
410 [RYFFLoFLo) =)L T =)Lz —F)L 8 19 6 1 34
427 [ "YL 106 106
428 |7 /)TN T 88 62 149
457 [P 7oL R A 83 558 178 818
& H 512 1,618 516 301 230 7 3,183

(3)-19




#3-1-38 Fk AN ERD TR B UFRI - GBI OYE R HER G R COF

ESZZ?’EFV BRI

RERETAA I BET T (kg/ZE
3 W4 EA] PR A [ AAE R /EYJ\%???&IJ ozt
Gikes bl | AR [BiBRER | AR WAl 5 EdA ne
22 |74 m=1 0 36 37
29 1—7UnAxy—2, 3—ThFL T 1 0 1
BT LI P 2R TR OF DI (T
30 | FIEDRBEHEMNL0DD14ETOLD KL UT 50 4 1 23 78
DIEEMIZIRED, )
53 |[=F LB 142 41 11 194
57 |=F Lo P Va—E/)F)LT—F)b 12 12
64 |Th7=r Ty s 19 6 11 39 2 78
80 [F Lo 308 89 6 36 7 446
86 /LY —/L 37 37
87 |[Z7ub K=k EY 0 0
117 |77 =27 —L 24 24
139 [FFEARNY 8 0 1 9
140 [Z=o 7Ry 16 16
153 | 7RI AR 248 9 3 88 348
171 [Furary—u 41 41
181 [/~ P 261 452 131 844
207 [2, 6——F—3¥)—TF)L—4—IL—)L 14 10 23
248 | ZATV ) 1 6 2 8
251 |[Z==baFAr 309 89 8 406
252 |Z7=rF A 25 73 21 119
256 |7 H PR 5 5
257 | Hh/)—v 0 0
275 |[RT S g IR D 2 0 0
297 |1, 3, 5—hIAF LB 41 41
R 0 0 8 8
346 [2— T ==/ T = /)—)L 134 134
350 [~V ARY 9 30 9 15 62 9 134
405 [1ZHFEY 4 1 5
R (FFT=FLr) =T ¥ Lo—T )L (T /¥
407 |WEEDRFED121D15ETOLO K ZEDIR 10 14 4 0 28
MRS, )
408 | (AFLF L) =FIF N T ==L =—F)L 5 2 7
410 [RY(FxLxFLo)=/=LTz=)LT—F )L 12 26 7 1 46
427 [ B RY L 164 164
428 | 7= /)T IINT 136 175 311
457 |7V RA 128 736 212 1,076
& i 793 2,134 616 467 651 20 4,681
#23-1-39 F MANIRD T BRI - Xt B S E R O P B HERHE R CERR2TAEE ; w50 )
?«T%ﬂﬁ%%g PR A (kg/4F)
WE W4, Ea DR BA [ ARE R a7 UBhERAID e
#H5 - BA [ ATRE [BBRER "“Tﬁ’ T FhE s
22 |74 7 a=)L 15 15
29 [1=—TUNAFL—2, 3—mhRFT Tl 0 0 0
EHHT VX NP 2R R NEOR (7
30 zuﬂe/ug@rﬁi&ﬁ:loﬁ 514FTOLO K NE 23 2 0 9 36
DIREWIZIED, )
53 ij’wv&‘/t“y 88 13 5 106
57 |=F LY Va—)LE/=F )L —F )L 5 5
64 |Th7=r Ty 12 2 5 16 1 36
80 [F Ly 191 28 3 15 3 240
86 |71V —)L 17 17
AN A= (VA=PN [ 0 0
U7 |[5y7aty—n 10 10
139 [horANY 4 0 0 4
140 |7 x> 7 asXR) 7 7
153 |7 hF AN 116 6 1 41 164
171 [Fuvatry—n 17 17
181 [Y7up~_r P 122 281 41 445
207 |2, 6—V—F—X%V—TFN—4—JL/—)L 6 5 11
248 (AT 0 4 1 4
251 |[Zx==baFAL 192 28 4 224
252 |Z7=rTF A 12 45 7 64
256 |7 hfE 2 2
257 |THh/)—)v 0 0
275 |RT S IVERER TR T A 0 0
297 |1, 3, 5—hNAF AL~ E 17 17
300 [FrTy 0 0 3 3
346 [2— T == T=/)—)L 55 55
350 [~LARY 4 19 3 7 25 4 62
405 [1Z2F# G 2 0 2
R (AFy=FLo) =T L¥Lo—T )L (T /L%
407 |WVIEEDRFEED12D5515FTOLD K N DR 5 9 1 0 15
HEWIZIRD, )
408 [ARY (AFL=FL V) =AIFNT =)L T—F )L 3 0 4
410 [RYFFLoFLo) =)L T =)Lz —F)L 6 16 2 1 25
427 [ "YL 77 77
428 |7 /)TN T 64 72 136
457 [P 7oL R A 60 457 67 585
& H 372 1,326 195 219 268 8 2,388

(3)-20




F3-1-40 F AN LRD T B UFRI - R GUL AW B OYE R HER G R COF

Eﬁzzwf“ e [ )

RERETAA I BET T (kg/ZE
3 W4 EA] PR A [ AAE R /EYJ\%???&IJ ozt
Gikes bl | AR [BiBRER | AR Al EE EdA ne
22 |74 m=1 1 97 99
29 [1—T7UAFXL—2, 3—xRFL Ty 1 1 2
BT LI P 2R TR OF DI (T
30 | FIEDRBEHEMNL0DD14ETOLD KL UT 188 6 5 61 260
DIEEMIZIRED, )
53 |[=F LB 221 188 29 438
57 |=F Lo P Va—E/)F)LT—F)b 33 33
64 |Th7=r Ty s 30 25 43 105 7 211
80 [F Lo 478 406 22 97 20 1,023
86 /LY —/L 138 138
87 |[Z7ub K=k EY 0 0
17 [T7aFy— 65 65
139 [FFEARNY 30 0 3 33
140 [Z=o 7Ry 60 60
153 [T hT AN 937 15 12 333 1,297
171 [Furary—u 109 109
181 [/~ P 989 704 598 2,291
207 |2, 6—Y—F—x¥U—TFF)L—4—IL I —)L 52 37 89
248 |\ ZATV ) 2 9 8 19
251 |Z==FaFA> 481 409 29 918
252 |Z7=rF A 94 114 97 304
256 |7 H PR 14 14
257 | Hh/)—v 0 0
275 |RT VIR TR A 0 0
297 |1, 3, 5—hIAF LB 109 109
300 [y 0 0 22 22
346 [2— T ==/ T = /)—)L 358 358
350 [~V ARY 33 47 40 59 165 24 367
405 [1ZHFEY 17 2 19
R (FFT=FLr) =T ¥ Lo—T )L (T /¥
407 |WIEDRFEN120H15ETOLO K ZE DR 38 22 18 0 79
MRS, )
408 |[R) (FFLFL o) =F4IF )N Tz=)LT—T)L 8 7 15
410 [RY(FxLxFLo)=/=LTz=)LT—F )L 45 40 34 4 123
427 [ B RY L 622 622
428 | 7= /)T IINT 515 466 982
457 |7V RA 485 1,144 972 2,601
B i 3,003 3,319 2,819 1,767 1,737 53 12,698
#3-1-41 FHRANARDFHET TR - U E W E R O H B e I%%(Ihk27$f“ )
?«T%ﬂﬁ%%g PR (ke/F
WE W4 Ea D R BA | A /rz/)w?ﬁl e
#H5 - BA [ ATRE [BBRER *’“Tﬁ’ T FhE s
22 |47 =)L 36 36
29 [1—TUAAXL—2, 3—aRFxL Tl 0 0 0
EHHT VX NP 2R R NEOR (7
30 zuﬂe/ugwrﬁi&ﬁxloﬁ L14FTOLO R VE 28 2 1 23 53
DIREWIZIED, )
53 1%»&‘/@“/ 70 26 11 107
57 |[=FL oV )a— e/ =F)Lo—T)L 12 12
64 |Th7=r Ty 9 4 6 39 2 61
80 [F Ly 152 57 3 36 7 255
86 |71V —)L 21 21
AN A= (VA=PN [ 0 0
U7 |[5y7aty—n 24 24
139 [horANY 5 0 1 6
140 |7 x> 7 asXR) 9 9
153 |7 hF AN 140 5 2 50 195
171 [Fuvatry—n 40 40
181 [Y7up~_r P 147 223 83 454
207 |2, 6—V—F—X%V—TFN—4—JL/—)L 8 5 13
248 | FATV ) 0 3 1 4
251 |7==FaFA> 152 57 4 214
252 |Z7=rTF A 14 36 13 64
256 |7 hfE 5 5
257 | T Hh/)—)v 0 0
275 |RT S IVERER TR T A 0 0
297 |1, 3, 5—hNAF AL~ E 40 40
300 [Pro—y 0 0 8 8
346 [2— T == T=/)—)L 132 132
350 [~LARY 5 15 6 9 61 9 104
405 [1Z2F# G 3 1 3
R (AFy=FLo) =T L¥Lo—T )L (T /L%
407 | NWIEEDRFBEN121H15ETOLD K Z DR 6 7 3 0 15
HEWIZIRD, )
408 [ARY (AFL=FL V) =AIFNT =)L T—F )L 3 1 4
410 [RYFFLoFLo) =)L T =)Lz —F)L 7 13 5 1 26
427 [ "YL 93 93
428 |7 /)TN T 77 172 248
457 |7V RA 72 363 135 570
& H 447 1,052 393 263 640 20 2,815

(3)-2

1




F3-1-42 e b ANLRD T B UFRI - R GUL AW B OYE R HER G R OF

ESZZ?ET” i 1)

RERETAA I BET T (kg/ZE
3 W4 EA] PR A [ AAE R /EYJ\%???&IJ ozt
Gikes bl | AR [BiBRER | AR WAl 5 EdA ne
22 |74 m=1 0 38 39
29 1—7UnAxy—2, 3—ThFL T 0 0 1
BT LI P 2R TR OF DI (T
30 | FIEDRBEHEMNL0DD14ETOLD KL UT 40 3 1 24 68
DIEEMIZIRED, )
53 |[=F LB 93 51 12 155
57 |=FL Y Va—)LE /) F )LT—F )L 13 13
64 |Th7=r Ty s 13 7 9 42 3 73
80 [F Lo 200 110 5 38 8 361
86 /LY —/L 29 29
87 |[Z7ub K=k EY 0 0
117 |77 =27 —L 26 26
139 |FouaARN 6 0 1 8
140 [Z=o 7Ry 13 13
153 | 7RI AR 199 6 3 71 279
171 |[7ava)r>y—)u 43 43
181 |[Y7nuxX B 210 295 162 666
207 [2, 6——F—3¥)—TF)L—4—IL—)L 11 8 19
248 |\ ZATV ) 0 4 2 6
251 |Z==FaFA> 202 110 6 318
252 |Z7=rF A 20 48 26 94
256 |7 H PR 5 5
257 | Hh/)—v 0 0
275 |[RT S g IR D 2 0 0
297 |1, 3, 5—hIAF LB 43 43
R 0 0 9 9
346 |2— T ==L 7= )—)L 141 141
350 [~ULAR) 7 20 11 12 65 10 124
405 [1ZHFEY 4 1 4
R (FFT=FLr) =T ¥ Lo—T )L (T /¥
407 |WIEDRFEN120H15ETOLO K ZE DR 8 9 5 0 22
MRS, )
408 | (AFLF L) =FIF N T ==L =—F)L 3 2 5
410 [RY(FxLxFLo)=/=LTz=)LT—F )L 10 17 9 2 37
427 [ B RY L 132 132
428 | 7= /)T IINT 109 184 293
457 |7V RA 103 479 263 845
& i 637 1,391 762 375 686 21 3,872
F23-1-43 F MANARD T BRI - X GRS E R O P B HERH R CERR2TAE S REAR )
?«T%ﬂﬁ%%g PR A (kg/4F)
WE W4 Ea DR BA [ ARE R a7 UBhERAID e
#H5 - BA [ ATRE [BBRER "“Lf‘ﬁ’ T FhE s
22 |74 7 a=)L 46 46
29 [1=—TUNAFL—2, 3—mhRFT Tl 0 0 1
EHHT VX NP 2R R NEOR (7
30 zw’r/ugwrﬁi‘&mlob 514FTOLO K NE 65 4 1 29 99
DIREWIZIED, )
53 ij’wv&‘/ﬁ‘/ 130 53 14 197
57 |[=FL oV )a— e/ =F)Lo—T)L 16 16
64 |Th7=r Ty 18 7 15 50 3 93
80 [F Ly 281 115 8 46 9 459
86 |71V —)L 48 48
AN A= (VA=PN [ 0 0
U7 |[5y7aty—n 31 31
139 [horANY 11 0 1 12
140 |7 x> 7 asXR) 21 21
153 |7 hF AN 326 9 4 116 454
171 [Fuvatry—n 51 51
181 [Y7up~_r P 344 413 170 927
207 |2, 6—V—F—X%V—TFN—4—JL/—)L 18 13 31
248 (AT 1 5 2 8
251 |7==FaFA> 283 116 10 408
252 |Z7=rTF A 33 67 27 127
256 |7 hfE 6 6
257 |THh/)—)v 0 0
275 |RT S IVERER TR T A 0 0
297 |1, 3, 5—hNAF AL~ E 52 52
300 [FrTy 0 0 10 10
346 [2— T == T=/)—)L 170 170
350 [~LARY 12 27 11 20 78 12 160
405 [1Z2F# G 6 1 7
R (AFy=FLo) =T L¥Lo—T )L (T /L%
407 |WVIEEDRFEED12D5515FTOLD K N DR 13 13 5 0 31
HEWIZIRD, )
408 [ARY (AFL=FL V) =AIFNT =)L T—F )L 5 2 7
410 [RYFFLoFLo) =)L T =)Lz —F)L 16 23 10 2 51
427 [ "YL 216 216
428 |7 /)TN T 179 221 400
457 [P 7oL R A 169 672 276 1,117
& H 1,044 1,950 800 615 823 25 5,257

(3)-22




F3-1-44 Fe b ANLRDTE B UFRI - R GUE AW BN O Y FHER G R OF

ESZZ?@T“ Ko

RERETAA I BET T (kg/ZE
3 W4 EA] PR A [ AAE R /EYJ\%???&IJ ozt
Gikes bl | AR [BiBRER | AR WAl 5 EdA ne
22 |74 m=1 0 18 18
29 1—7UnAxy—2, 3—ThFL T 0 0 1
BT LI P 2R TR OF DI (T
30 | FIEDRBEHEMNL0DD14ETOLD KL UT 43 4 1 11 59
DIEEMIZIRED, )
53 |[=F LB 129 47 5 182
57 |=F Lo P Va—E/)F)LT—F)b 6 6
64 |Th7=r Ty s 18 6 10 19 1 54
80 [F Lo 280 102 5 18 4 409
86 /LY —/L 31 31
87 |[Z7ub K=k EY 0 0
117 |77 =27 —L 12 12
139 [FFaARNY 7 0 0 7
140 [Z=o 7Ry 14 14
153 | 7RI AR 212 9 3 75 299
171 [Furary—u 20 20
181 [/~ P 224 412 151 786
207 [2, 6——F—3¥)—TF)L—4—IL—)L 12 8 20
248 |\ ZATV ) 0 5 2 8
251 |Z==FaFA> 282 103 6 391
252 |Z7=rF A 21 67 24 112
256 |7 H PR 2 2
257 | Hh/)—v 0 0
275 |[RT S g IR D 2 0 0
297 |1, 3, 5—hIAF LB 20 20
300 [y 0 0 4 4
346 [2— T ==/ T = /)—)L 66 66
350 [~V ARY 7 27 10 13 30 4 93
405 [1ZHFEY 4 0 4
R (FFT=FLr) =T ¥ Lo—T )L (T /¥
407 |WIEDRFEN120H15ETOLO K ZE DR 9 13 5 0 26
MRS, )
408 | (AFLF L) =FIF N T ==L =—F)L 5 2 7
410 [RY(FxLxFLo)=/=LTz=)LT—F )L 10 23 9 1 43
427 [ B RY L 141 141
428 | 7= /)T IINT 117 86 202
457 |7V RA 110 670 245 1,024
& i 679 1,943 710 400 320 10 4,061
#3-1-45 FHRANARDFHET TR - U E W E R O B e I%%(Ihk27$f“ =)
?«T%ﬂﬁ%%g PR (ke/F
WE W4 Ea D R BA | A /u/)%ﬁ?ﬁl e
#H5 - BA [ ATRE [BBRER "“Tﬁf T FhE s
22 |74 7 a=)L 59 59
29 [1=—TUNAFL—2, 3—mhRFT Tl 0 0 1
EHHT VX NP 2R R NEOR (7
30 zuﬂe/ug@rﬁi&ﬁ:lof; 514FTOLO K NE 41 3 1 37 83
DIREWIZIED, )
53 ij’wv&‘/t“y 104 54 18 176
57 |[=FL oV )a— e/ =F)Lo—T)L 20 20
64 |Th7=r Ty 14 7 10 64 4 99
80 [F Ly 226 117 5 59 12 418
86 |71V —)L 30 30
AN A= (VA=PN [ 0 0
U7 |[5y7aty—n 39 39
139 [horANY 7 0 2 8
140 |7 x> 7 asXR) 13 13
153 |7 hF AN 206 7 4 73 289
171 [Fuvatry—n 66 66
181 [Y7up~_r P 217 332 172 721
207 |2, 6—V—F—X%V—TFN—4—JL/—)L 11 8 19
248 (AT 0 4 2 7
251 |7==FaFA> 227 117 6 351
252 |Z7=rTF A 21 54 28 102
256 |7 hfE 8 8
257 |THh/)—)v 0 0
275 |RT S IVERER TR T A 0 0
297 |1, 3, 5—hNAF AL~ E 66 66
300 [FrTy 0 0 13 13
346 [2— T == T=/)—)L 217 217
350 [~LARY 7 22 11 13 100 15 168
405 [1Z2F# G 4 1 5
R (AFy=FLo) =T L¥Lo—T )L (T /L%
407 | NWIEEDRFBEN121H15ETOLD K Z DR 8 10 5 0 24
HEWIZIRD, )
408 [ARY (AFL=FL V) =AIFNT =)L T—F )L 4 2 6
410 [RYFFLoFLo) =)L T =)Lz —F)L 10 19 10 2 41
427 [ "YL 136 136
428 |7 /)TN T 113 282 395
457 [P 7oL R A 106 540 279 925
& H 658 1,567 809 388 1,051 32 4,505

(3)-23




F3-1-46 F MANIRD T E D BRI - X G E B R O B HER R R CERR2TAE B ; BB VR 5 IR
RERETAA ERIBET I (ke/5E)
3 W4 EA] PR AL [ AAEER] o aT UBHRAI ozt
Gikes bl | AR [BiBRER | AR WAl 5 EdA ne
22 |74 m=1 0 107 108
29 1—7UnAxy—2, 3—ThFL T 1 0 1
BT LI P 2R TR OF DI (T
30 | FIEDRBEHEMNL0DD14ETOLD KL UT 62 6 2 68 138
DIEEMIZIRED, )
53 |[=F LB 218 73 32 324
57 |=F Lo P Va—E/)F)LT—F)b 36 36
64 |Th7=r Ty s 30 10 14 116 7 177
80 [F Lo 473 158 7 108 22 768
86 /LY —/L 46 46
87 |[Z7ub K=k EY 0 0
117 |77 =27 —L 72 72
139 [FFaARNY 10 0 3 13
140 [Z=o 7Ry 20 20
153 | 7RI AR 309 14 5 110 438
171 [Furary—u 120 120
181 |[Y7nuxX B 326 696 232 1,255
207 [2, 6——F—3¥)—TF)L—4—IL—)L 17 12 29
248 |\ ZATV ) 1 9 3 13
251 |Z==FaFA> 476 159 9 644
252 |Z7=rF A 31 112 38 181
256 |7 H PR 15 15
257 | Hh/)—v 0 0
275 |[RT S g IR D 2 0 0
297 |1, 3, 5—hIAF LB 121 121
300 [y 0 0 24 24
346 [2— T ==/ T = /)—)L 396 396
350 [~V ARY 11 46 15 19 183 27 301
405 [1ZHFEY 6 2 8
R (FFT=FLr) =T ¥ Lo—T )L (T /¥
407 |WEEDRFED121D15ETOLO K ZEDIR 13 21 7 0 42
MRS, )
408 | (AFLF L) =FIF N T ==L =—F)L 8 3 11
410 [RY(FxLxFLo)=/=LTz=)LT—F )L 15 40 13 4 72
427 [ B RY L 205 205
428 | 7= /)T IINT 170 515 685
457 |7V RA 160 1,132 378 1,670
& i 991 3,284 1,096 583 1,920 59 7,932
#3-1-47 FHRANARDTHE T TR - A E W E R O B e I%%(Ihk27$f“ THHRIR)
?«T%ﬂﬁ%%g PR (ke/F
WE W4 Ea D R BA | A /u/)rjiﬁ?ﬁl e
#H5 - BA [ ATRE [BBRER *’“Lf‘ﬁ’ T FhE s
22 |74 7 a=)L 24 24
29 [1=—TUNAFL—2, 3—mhRFT Tl 1 0 1
EHHT VX NP 2R R NEOR (7
30 /I/‘L\'/I/Ey)ﬁyﬁi&ﬁ‘loﬁ 514FTOLO K NE 80 4 3 15 102
DIREWIZIED, )
53 iv’wv&yt“y 139 101 7 247
57 |=F LY Va—)LE/=F )L —F )L 8 8
64 |Th7=r Ty 19 14 18 26 2 78
80 [F Ly 301 219 9 24 5 558
86 |71V —)L 59 59
AN A= (VA=PN [ 0 0
U7 |[5y7aty—n 16 16
139 [horANY 13 0 1 14
140 |7 x> 7 asXR) 25 25
153 |7 hF AN 398 9 7 142 556
171 [Fuvatry—n 27 27
181 [Y7up~_r P 420 443 322 1,186
207 |2, 6—V—F—X%V—TFN—4—JL/—)L 22 16 38
248 (AT 1 6 4 11
251 |7==FaFA> 303 220 12 535
252 |Z7=rTF A 40 72 52 164
256 |7 hfE 3 3
257 |THh/)—)v 0 0
275 |RT S IVERER TR T A 0 0
297 |1, 3, 5—hNAF AL~ E 27 27
300 [FrTy 0 0 5 5
346 [2— T == T=/)—)L 88 88
350 [~LARY 14 29 21 25 40 6 136
405 [1Z2F# G 7 0 8
R (AFy=FLo) =T L¥Lo—T )L (T /L%
407 |WVIEEDRFEED12D5515FTOLD K N DR 16 14 10 0 40
HEWIZIRD, )
408 [ARY (AFL=FL V) =AIFNT =)L T—F )L 5 4 9
410 [RYFFLoFLo) =)L T =)Lz —F)L 19 25 18 1 64
427 [ "YL 264 264
428 |7 /)TN T 219 114 333
457 [P 7oL R A 206 721 524 1,451
& H 1,277 2,091 1,519 751 426 13 6,077

(3)-24




